



Name: _____

Date: _____ Score: _____

$$(3 + \frac{2}{3})^2 + \frac{1}{5} - \frac{1}{2} - 3^2 =$$

$$(\frac{1}{6} - \frac{3}{2})^2 + \frac{3}{4}(\frac{3}{4} + (\frac{1}{6})^2) =$$

$$(5 + \frac{3}{2})^2 + \frac{1}{4} \times 2^2 - \frac{1}{2} =$$

$$(\frac{2}{3} + \frac{3}{2})^2 - \frac{1}{4}(\frac{1}{2} + \frac{1}{6}) =$$

$$(\frac{2}{5} - (\frac{3}{4})^2) \times \frac{3}{4} + (\frac{2}{3} - \frac{1}{5})^2 =$$

$$(\frac{2}{3} - \frac{1}{2})^2 - \frac{2}{5}(\frac{1}{3} - (\frac{1}{3})^2) =$$

$$(\frac{1}{3} + \frac{1}{5})^2 + \frac{3}{5}(\frac{1}{6} + \frac{1}{3}) =$$

$$(\frac{3}{5} - (\frac{1}{3})^2) \times \frac{1}{6} + (\frac{1}{4} + \frac{1}{2})^2 =$$

$$(5 + \frac{1}{4})^2 - \frac{1}{5} \times 3^2 + \frac{3}{4} =$$

$$(5 - \frac{3}{2})^2 + \frac{2}{5} - 4^2 + \frac{1}{2} =$$



Name: _____

Date: _____ Score: _____

$$(3 + \frac{2}{3})^2 + \frac{1}{5} - \frac{1}{2} - 3^2 = \frac{373}{90} = 4\frac{13}{90}$$

$$(\frac{1}{6} - \frac{3}{2})^2 + \frac{3}{4}(\frac{3}{4} + (\frac{1}{6})^2) = \frac{85}{36} = 2\frac{13}{36}$$

$$(5 + \frac{3}{2})^2 + \frac{1}{4} \times 2^2 - \frac{1}{2} = \frac{171}{4} = 42\frac{3}{4}$$

$$(\frac{2}{3} + \frac{3}{2})^2 - \frac{1}{4}(\frac{1}{2} + \frac{1}{6}) = \frac{163}{36} = 4\frac{19}{36}$$

$$(\frac{2}{5} - (\frac{3}{4})^2) \times \frac{3}{4} + (\frac{2}{3} - \frac{1}{5})^2 = \frac{1381}{14400}$$

$$(\frac{2}{3} - \frac{1}{2})^2 - \frac{2}{5}(\frac{1}{3} - (\frac{1}{3})^2) = (-\frac{11}{180})$$

$$(\frac{1}{3} + \frac{1}{5})^2 + \frac{3}{5}(\frac{1}{6} + \frac{1}{3}) = \frac{263}{450}$$

$$(\frac{3}{5} - (\frac{1}{3})^2) \times \frac{1}{6} + (\frac{1}{4} + \frac{1}{2})^2 = \frac{1391}{2160}$$

$$(5 + \frac{1}{4})^2 - \frac{1}{5} \times 3^2 + \frac{3}{4} = \frac{2121}{80} = 26\frac{41}{80}$$

$$(5 - \frac{3}{2})^2 + \frac{2}{5} - 4^2 + \frac{1}{2} = (-\frac{57}{20}) = (-2\frac{17}{20})$$